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<?xml version="1.0"?>

<DOCTYPE employees SYSTEM "Employees.did'> O By
<employees>

<employee> I:I [t
<namesifill fk</names

<office>=icloffice> -

<lemployee> ﬁ_ﬂ |£j|
<employee>

<name | £ ¥ K<inames

<officesli<loffice> @ @ @ @
<Jemployee>
<lemployees> [meex | [== [rews ]
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public void get(Node node){

NodeList childNodes=node.getChildNodes();
for(int i=0:i<childNodes.getLength();i++){
short type=childNodes.item(i).getNodeType();

AROEL

+ switch(type){
: case Node. ATTRIBUTE_NODE:

break; e )
case Node.CDATA_SECTION Nope: / — FORE )

break;

case Node.ELEMENT_NODE :
Element emp=(Element)childNodes.item(i);
if("employee".equals(emp.getTagName())) {

Fur-vafaows )

}
if("name".equals(emp.getTagName())) {
if(this.str == "employee"){

}
this.get(childNodes.item(i));
break;
case Node. TEXT_NODE:
H break; H
)
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+ accept{node ; Mode) : woid
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DOMDriver
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+ accept(node - Node) © void

I 1
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< cabstracts >
i5: \isit_A(elem Element;
+ acceptnode : Node) : void XMLVisitor A )
JAY exit_Afelemn Element)

--------------------------------------
1 [ 1

VocabulayVisitor /.

[FwisEachElemnentelem : Elementy” woid] |
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# visiEachElementeler : Element) - void
# exitEachElement(elem : Element) : void
+ visit_mrow(elem : Element) : void
+ exit_mrow(elem : Elament) : voict

+ visit_A(elem : Element) : void
+ exit_A(elem : Elament)  void

+ visit_B(elem : Elernen) © void
+ exit_B(elem : Element) : void
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ConcretevisitorL

+ visit_mrow(eler : Elernent) : void
+ exit_mraow(zlem © Element) : void
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Node

# visiEachElement elem - Element) - void

¥ exiEachElemen(elem | Bleme) | void
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VocabularyVisitor
+ accept{node : Node) @ void
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# visitEachElement(elem : Element) : oid
# exitEachElement(elem : Element) : void
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